


















































































Chapter 3: Teeth Clough, 2004 29

enamel. The function of enamel is to form a resistant covering of the tooth,

rendering them suitable for mastication (Baskhar S.N., 1991), bearing the force

of cropping food (Marieb and Mallatt, 2001). Although tooth enamel is the hardest

calcified tissue in the body it is still subject to attrition: the wearing down of the

tooth due to friction of use.

Biologic hydroxyapatite is markedly different to pure hydroxyapatite.

Differences include inclusions of small amounts of proteinaceous material and

trace elements (Curzon and Cutress, 1983). The trace elements present reflect

the composition of the tissue environment during tooth formation and the oral

environment after tooth eruption (Curzon and Cutress, 1983). Trace elements are

incorporated into the apatite crystal lattice during the mineralization period, and

also after mineralization preceding eruption elements can diffuse into the tissue

(Curzon and Cutress, 1983).

According to Driessens (1982), tooth enamel, preceding eruption, will

remain in physico-chemical equilibrium with its oral environment. This is possible

due to enamel being semi-permeable, allowing for small ions and molecules to

pass through the enamel of the tooth (Driessens, F.C.M. 1982). All present

evidence indicates that once any chemical elements are incorporated within the

tooth enamel framework, no mineral substances are withdrawn or decreased by

any physiologic process within the tooth (Melfi. C. 1988).

Dentin is the second most mineralised component of the tooth. It consists

of approximately 68-79% inorganic material, and the remainder is water and

organic carbon (Lazarri, E. 1976). It provides the bulk and general form of the

tooth (Figure 3.1 & 3.4). Dentin is very similar to bone both physically and

chemically, and unlike enamel, which is hard and brittle, dentin is viscoelastic

and subject to slight deformation (Baskhar S.N., 1991). In an intact tooth, dentin

is not visible due to the crown being covered with enamel.

Cementum is the mineralised dental tissue covering the anatomic root of

the tooth (Figure 3.4). It is the least mineralised component of the tooth being

only 45-50% mineralised and 50 -55% organic (Lazarri, E. 1976).






























































































































































































































































































































































































